ERoN”

HELICAL STEP CLAMPS PAT.P No.E-9427
LY
s r
12 2
SHEH P RELLE
JREE  |FCAD900-8 (HR{FBkBi54E) - Lt
HAREGEE | FCADI00-8 (B IRk Bi5%k) - ke
yi %31 S45C #KHRC30 | §lifkabiE
0L, REHK,
O 11K AT FA2MEETE,
BARSA L
HEE u o
(Eﬁ%;};{d\) IRy kX TEIELH
L Fokid
iTES S | EATRME REEE(OEN) REES @AM KETE  BAREREN-m BAXEAKN  EiEkg
903744 | HEC1200 12 30.5-62 55.5-84 0- 45 50 11.5 0.7
903745 | HEC1201 12 31.5-62 24.5-57.5 15- 45 50 11.4 0.6
903746 | HEC1202 12 31.5-62 24.5-57.5 30- 75 50 11.4 0.8
903747 | HEC1203 12 31.5-62 24.5-57.5 60-135 50 11.4 1.2
................... 903748 | HEC1204 12 31.5-62 24.5-57.5 120-195 50 11.4 1.7
s 903749 | HEC1205 12 31.5-62 24.5-57.5 180-255 50 11.4 2.2
e 903750 | HEC1400 | 14 30562 55584 0- 45 80 155 07
"""""""""" 903751 | HEC1401 14 31.5-62 24.5-57.5 15- 45 80 15.3 0.6
HEEOH 903752 | HEC1402 14 31.5-62 24.5-57.5 30- 75 80 15.3 0.8
903753 | HEC1403 14 31.5-62 24.5-57.5 60-135 80 15.3 1.2
903754 | HEC1404 14 31.5-62 24.5-57.5 120-195 80 15.3 1.7
903755 | HEC1405 14 31.5-62 24.5-57.5 180-255 80 15.3 22
- 903756 | HEC1600 16 46 -69 76 -93 0- 70 100 15.3 1.9
................... 903757 | HEC1601 16 46 -69 40 -59 25- 70 100 16.3 1.7
o 903758 | HEC1602 16 46 -69 40 -59 50-120 100 16.3 22
e 903759 | HEC1603 | 16 46 69 40 -59 100-220 100 16.3 33
"""""""""" 903760 | HEC1604 16 46 -69 40 -59 200-320 100 16.3 49
RARTH 903761 | HEC1800 18 46 -69 76 -93 0- 70 130 17.8 1.9
------------------- 903762 | HEC1801 18 46 -69 40 -59 25- 70 130 19 1.7
W iR R iR 903763 | HEC1802 18 46 -69 40 -59 50-120 130 19 22
................... 903764 | HEC1803 18 46 -69 40 -59 100-220 130 19 3.4
S 903765 | HEC1804 18 = 46 -69 40 -59 - 200-320 130 © 19 : 4.8
................... = . %nﬁ
- L Etaia)ad BE0R
___________________ . BeH |E—9421
- BIRER
ShBRF 14 D | AR
................... °  @|sEzE )
® Q| ZRkE
MTEs @ | ZREE
@
"""""""""" ® | % [ P51 »|
] ® ® | EEE
------------------- o @ | TEIS
@

http://www.nabeya.co.jp



WSMER ST
HEC1200
HEC1400 M
HEC1600
HEC1800 |
qu \:K b
A
E D C
/_ (&7
ER] b
+{fe@E=—Ca Al -
=
- - o = o
: o N |
i o B Pk
T T
BS A B C D E F G H | J K L M: N : O B Q R ($8%F)
HEC1200 [140 34 555 54 305 22 17 31 10 8 0-13 32 - 4519 11.5 19 0.75 R37.5 M10X1.5
HEC1201 [110 34 24.5 54 31,5 22 17 16 10 8 15 28 32 - 4519 11.5 19 0.75 R37.5 M10X1.5
HEC1202 [110 34 24.5 54 31.5 22 17 16 10 8 30-58 47 - 7519 11.5 19 1.25 R37.5 M10X1.5
HEC1203 [110 34 245 54 315 22 17 16 10 8 60-118 77 -13519 11.5 19 250 R38 MI10X1.5
HEC1204 [110 34 245 54 315 22 17 16 10 8 120-178 137 -19519 11.5 19 250 R40 MI0X1.5
HEC1205 [110 34 24.5 54 31,5 22 17 16 10 = 8180238 197 -25519 11.5 19 250 R42 MI0X1.5
HEC1400 [140 34 555 54 305 22 17 31 10 8 0-13 32 - 4523 13.5 19 075 R37.5 M12x1.75
HEC1401 [110 34 24.5 54 31,5 22 17 16 10 8 15 28 32 - 4523 13.5 19 075 R37.5 M12x1.75
HEC1402 110 34 245 54 315 22 17 16 10 8 30- 58 47 - 7523 135 19 1.25 R37.5 M12x1.75
HEC1403 [110 34 245 54 31,5 22 17 16 10 8 60-118 77 -13523 13.5 19 250 R38  M12x1.75
HEC1404 [110 34 24.5 54 31.5 22 17 16 10 8120178 137 -19523 13.5 19 250 R40  M12x1.75
HEC1405 [110 34 24.5 54 31.5 22 17 16 10 8180238 197 -25523 13.5 19 250 R42 MI12x1.75
HEC1600 [160 50 76 38 46 30 22.5 50 23.6 15 0 225 475 7026 15.7 24 1.25 RA9  M14x2
HEC1601 [122 50 40 36 46 30 22.5 25 23.6 15 25 475 475 7026 157 24 125 RA9  M14x2
HEC1602 [122 50 40 36 46 30 22.5 25 23.6 15 50- 975 725-120 26 15.7 24 250 R50  M14x2
HEC1603 [122 50 40 36 46 30 22.5 25 23.6 15 100-197.51225-220 26 15.7 24 375 R50  M14x2
HEC1604 [122 50 40 36 46 30 22.5 25 23.6 15 200-297.52225-320 26 15.7 24 375 R54  M14x2
HEC1800 [160 50 76 38 46 30 22.5 50 23.6 15 0- 225 475- 7029 17.4 24 125 RA9  MI16X2
HEC1801 [122 50 40 36 46 30 22.5 25 23.6 15 25 475 475 7029 17.4 24 125 RA9  MI16X2
HEC1802 [122 50 40 36 46 30 22.5 25 23.6 15 50- 975 725-120 29 17.4 24 250 R50  M16X2
HEC1803 [122 50 40 36 46 30 22.5 25 23.6 15 100-197.51225-220 29 17.4 24 375 R50 M16X2
HEC1804 [122 50 40 36 46 30 22.5 25 23.6 15 200297.52225:320 29 17.4 24 375 R54  M16X2
miER7E
RENHELARMT.
A\ EEET HiRER %,
PR ATRMER. ns HEAR
A TRHER TR A, HEC12** | 1/(1+(3e £ #555/38)) X 0.41572 X HAEHAE(N + m)
N T : HECT4** | 1/(1-+(3e £ 8E75/38)) X 0.34937 X S AE BN - m)
WETHHBRATER A, REESR. HEC16™ | 1/(1+(Je £ 857/49)) X 0.29592 X S EHA5E(N + m)
FRALIR, A7=mEHEE, HEC18** | 1/(1-+( £ 2E%/49)) X 0.26474 X SR EHLE(N - m)
IR RAEWTN. HENHTRE,
THRMEE RUKEZ) ter T wwmow s

SREBEMRELEREANM. AMBEMERE, IREMSRIY

FE,

AIEER THCADHIE. HITEFEIMA.

12
HE
9’5
B

BT O

I TEBE



